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Q1. AandB are two soap bubbles. Bubble A is larger than B. If these are now joined by a
tube then:
(a) the bubble A becomes more large
(b) the bubble B becomes more large
(c) both the bubbles acquire the same size
(d) both the bubbles will get busted

Q2. Ifamillion tiny droplets of water of the same radius coalesce.into.one larger drop the
ratio of the surface energy of the large drop to the total surface energy of all the
droplets will be
(@1:10 (b) 1: 102 (c) 1.10* (dyx=10°

Q 3. There is a horizontal film of soap solution.\On'it a thread is placed in.the-form of a
loop. The film is pierced inside the loop’and the thread becomes a circular loop of
radius R. If the surface tension of the loop be T, then tension in/the thread will be:
(@) TR3T (b) 2RT () RT (d) TR?/T

Q4. When too)many waterdrops coalesce/'to form'‘a-bigger drop:
(a).energyis abserbed
(b)energyis liberated
(c)'energy is neither liberated nor absorbed
(d)yenergy may either be liberated or be absorbed depending on the nature of liquid

Q5. A soapbubbleofradiusT is placed on another bubble of radius 2r. The radius of the
surface comman to both the bubbles is
(@) 2r/3 (b) 3r (c) 2r @dr

Q6. One cubic plate, having 15 cm side, floats on water surface. If surface tension of
water is 60 dyne/cm. To lift this plate from water, Find the extra force required
against weight.

(a) 3600 dyne (b) 1800 dyne
(c) 900 dyne (d) 7200 dyne

Q7. Asoap bubble is very slowly blown on the end of a glass tube by a mechanical pump
which supplied a fixed volume of air every time whatever be the pressure against
which it pumping. The excess of pressure inside the bubble varies with time as shown
by which of the graph-
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Q8. Aliquid is contained in a vertical tube of semicircular cross-section (shown in figure).
The contact angle is zero. The force of surface tension on the curved part and on the
flat part are in ratio—
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Q9. If moreairis pushed in asoap bubble, the pressure\in it—
(a)-decreases
(b).increases
(C) remains same
(d) becomes zero

Q 10. Two spherical soap bubbles coalesce to form a single bubble. If V is the consequent
change-in.volunie of the contained air and S the change in total surface area, then
(P = atmospheric pressure)
(@) 3PV +4ST=0 (b) 4PV +3ST =0
(c)6PV +ST=0 (d)PV+4ST=0

Q 11. A big drop of water whose diameter is 0.2 cm, is broken into 27000 small drops of
equal volume. Work done in this process will be - (surface tension of water is 7 x

1072N/m).
(@) 5 x 10° joule (b) 2.9 x 107 joule
(c) 2.55 x 107> joule (d) zero

Q 12. A drop of water of volume V is pressed between the two glass plates so as to spread to
an area A. If T is the surface tension, the normal force required to separate the glass

plates
2TA? 4T A*

@%  ®Z£ OR @)
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Answer Key
Q.1 a Q2 b Q3 b Q.4 . b Q5 ¢
Q.6 a Q.7 c Q8 c Q.9 a Q.10 a
Q.11 c Q12 b
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Q2) If a million tiny droplets of water of the same radi sce into one larger
drop the ratio of the surface energy of the large “ ; total surface energy of all
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Q3) There is a horizontal film of soap solution. On | \éag :’s placed in the form
of a loop. The film is pierced inside the loop and .% omes a circular loop
1 ‘ ~ t

of radius R. If the surface tension of the loop&: lon in the thread will be:

(d) mR2/T
|aéﬂ/: LT R




Q4) When too many water drops coalesce to form-a b ®;
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(d) ene a eithﬁ% or be absorbed depending on the

nature of lfquid
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Q5) A soap bubble of radius r is placed on another b @ius 2r. The radius of
the surface common to both the bubbles is %
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Q6) One cubic plate, having 15 cm side, floats on w e. If surface tension
of water iIs 60 dyne/cm. To lift this plate from wa #;% tra force required
against weight. ‘
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Q7) A soap bubble is very slowly blown on the end of a-glass tube by a mechanical
pump which supplied a fixed volume of air every time \whatever be the pressure
against which it pumping. The excess of pressuré inside\the bubble varies with time

as shown by which of the graph- /l) LT
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Q8) A liquid is contained in a vertical tube of semici s-section (shown In
figure). The contact angle is zero. The force of a%& lon’on the curved part
and on the flat part are in ratio— E\& .
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Q9) If more air 1s pushed in a soap bubble, the p@s&@

(b) InCreaSES ce, outside onstant so, inner pressure decrease.
(c) re % %
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Q10) Two spherical soap bubbles coalesce to form a sir@ble. If V Is the

area, then

P = atmospheric pressure
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Q11) A big drop of water whose diameter is 0.2 cm, Into 27000 small
drops of equal volume. Work done in this proce % ace tension of water

:(j 7 Do
_ /l(k. % X

T (R = 2IXTXIG EXaT X0
Zj)(]&é)i_’zrx\g 8 = 29xgg X168 = 2v52 X108



Q12) A drop of water of volume V is pressed betwee lass plates so as to
spread to an area A. If T is the surface tension, the oﬁ% required to separate
the glass plates It { YLERusa dad fastnan
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